189 pcs. chassis one nut or quick change pin kit for shock and radius rod kit plus bolts

you choose one nut or quick change pin kit, let me know at end of action which you
would like

QYT SIZES LOCATIONS ALUM./
T

14 10-32X1.500 KNURF / BUMPER / DRIVE LINE HOOP TIT
2 1/4-20X1/2 WING SLIDER VALVE TO FRAME

TIT

10 1/4-28X1/2 FLOOR PAN TIT
6  1/4-28X5/8 GAS PEDAL TO FLOOR / FRT. WING POST&STRAPS

TIT

12 1/4-28X7/8 TOP FUEL PLATE

TIT

2 1/4-28X1.750 STEERING BRACKET TO FRAME
TIT

3  5/16-18X1/2 STEERING WHEEL
TIT

4 5/16-18X3/4 FUEL TANK MOUNTS
TIT

4  5/16-18X1.250 BELL RETAINER TO BELL HOUSING
TIT

6  5/16-24X1.500  ALL WING PINCH BOLTS TO CHASSIS
TIT

1  5/16-24X2.250  MASTER CYL. ROD END TO BRAKE PEDAL
TIT

2 5/16-24X2.250 MASTER CYL. BOLTS TO CHASSIS
TIT

6  3/8-24X1.000 P/S CLAMP, REAR WING STAND, F/M PLATE TO
CHASSIS TIT



2 3/8-24X1.000 L/F BRAKE CALIPER
TIT

6  3/8-16X1.000 TORQUE BELL TO MOTOR PLATE
TIT

8  3/8-16X1.125 F&R MOTOR PLATE TO BLOCK
TIT

6  3/8-16-24 TORQUE TUBE STUDS
TIT

1 3/8-24X1.500 WING SLIDER CYL. TO WING
TIT

9  3/8-24X1.800 TORSION ARMS / STOPS / PITMAN ARM
TIT

1 3/8-24X2.000 BRAKE PEDAL PIVOT BOLT
TIT

4 3/8-24X2.500 REAR MOTOR PLATE TO CHASSIS
TIT

2 3/8-16X2.500 MOTOR PLATE TO TOP OF BLOCK
TIT

4 7/16-20 U-JOINT TO CRANK ( 7/16 JET HEAD)
TIT

4 7/16-20X2.000 STOP ADJUSTER BOLTS
TIT

1 TITANIUM W-LINK PIN KIT

1 TITANIUM RADIUS/TIE ROD, DRAG LINK PIN KIT ONE NUT OR QUICK
CHANGE

1 TITANIUM SHOCK PIN KIT ONE NUT OR QUICK CHANGE

FOR MAXIM, EAGLE, J&J, XXX, JEI.



